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( 1960 - 70)

for (P)
S 4

+
H(x+4) =0
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· 8: R-M Lipsclitz.
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so I an expectprevious argument. -33 - to
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Thm. (Rooemecha [Evans-Garepy. Measure theory ..... 1

f:R*2A** Lipsclitz ->A is differentiable
almosteverywhere

C. holef, by (H-L) is Lipic R47[0,+01K

satisfie
4
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=0 a.e.i(4270,40)
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Gncall. "Week sol"of (CP) solof"Cp"

i.e. a Lip. In solving PDE a.e.
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(wx=1 >WI +) =0 FIN<t
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consi wech sole: "Lip+PDEa.e."is

0k for Existence, Not for uniqueness.

Ruck cenical sole me too strly, fer GL0BAL

existence, okfor uniquezen:see verit. Ham,
I next time!"COMPARISON PRINCIPLE" ->

UNIQUENESS ofCASSICAL Sols


